Practige:

1. How many significant figures are indicated by each of the following?

a) 1247 b) 1000 c) 0.034 d) 1201.07  €)62.0 f) 0.0025
- [ Z A < 2
8) 0.00250  h)sin432° )3.2x10"  j)tan' 024 K)6.02x 102 1) 1.042
2. Determine the following to the coﬁct number of signifi g l-l
gnificant figures
a)

(3.74-1.3)x2.12x 17.65

b 29+3.2+7.1)+0.134
(2:8) » (32) x(ﬁ?-éS)) : :
= 87.9032 —— g,

= (032) 20134
= 78.507 —=> 78.5
3. Calculate the area of a square with a side of 3.2 m. (A = Iw)
3.2

A = (3.2 Y0
= |0.2Y4

= J0. m™

- Z {q;g, -C\J'

4. Add the following lengths of 2.35 cm and 14.2 cm and 7.620 cm.
2.35 +I4,. 2 +7.620

= 24. 1l %0

Z4. 2 cm (ome dw:«lé)

S. Calculate the volume of a rectangular block 1.52 cm by 24.6 cm by 8.3 cm. (V = lwh)
820(24.¢)C8.3D

= DO 3536
- 310 cm?” o S Klbzcw} LR $L3-A5)

6. A metal ingot has a mass of 2.0 g and a volume of 0.04 cm”. Calculate the density of the meta:
ingot. (D = m/v)

0 = 20>
0.0 em> & Clsighy )
= 505/0‘“3 o= 5 x10" J{M;
7. Round off the following numbers to three significant figures:
a)7.1249  b) 2561 c) 2001 d)21256  €)6.5647  £)0.0034679
= 7.2 -256© = 2)200 2 656 = 0.oo3yg
. . = N <
- 2.56x(0” BRI = 3.HEF %10
v
= 2060

2.00 x10®



